TERX A A O#EETFRH1710).x1s

XA THRX4A 5 =z B HHEHK
FRHEMX  BFRHET 59 51 110 46
FHEMKX  LhHT 24 25 49 19
FRHEMX  {hET 16 19 35 15
FREMX AE—TH 15 18 33 16
FREMX ABIZTH 25 23 48 15
FREMX AET=-MTH 23 26 49 23
FRHEMX {HET 32 38 70 28
FREMKX SH 47 45 92 39
FREMX  JThT 49 76 125 49
FHE#KX  IHT 41 48 89 36
FREMX EFHET 23 28 51 21
FRHEMX SEEHET 26 28 54 25
FRHEMX TFLHET 45 54 99 40
FRHEMRX L HHET 60 64 124 53
FREMX EET 67 65 132 64
FREMRX LEE 32 44 76 31
FREMX FHLEHT 23 36 59 31
FREMX MEET 74 102 176 76
FREHX 0B 393 446 839 354
FREHRX THE 124 143 267 117
FREHMX [MER 82 113 195 86
FRHEMHX fHE 778 863 1,641 594
FRHEHX F 106 123 229 76
FREMKX AiI 54 68 122 43
FREMRX AKREBTKEAR 322 336 658 218
FREMX FHFXHET 423 526 949 326
FREMX EET 60 74 134 56
FREMHMX E/IL 457 497 954 283

FHEMXE 3480 3979 7459 2,780
HEHX ARZEBT KA 309 328 637 219
HWEHX K#ERP 107 123 230 71
HEHX =Bt 140 137 277 86
HWEHX BE 117 153 270 81
HEHX b3 94 124 218 89
HWE#X sl 19 17 36 11

HWEMXET 786 882 1,668 557
KiFh X S HT 487 566 1,053 428
KiFh X W03+ ET 186 249 435 162
KiFh X =k 376 394 770 279
KiFh X kLW 73 90 163 46
KT X EEF 72 77 149 47
KiFh X Lt&E 164 176 340 100
KiFHh X TaE 184 159 343 88
KiFh X KT 137 156 293 116
RIFHh X AN (TS 191 199 390 146
KiFh X HAEF 291 365 656 284
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X £ THRX4A 5 = B HHEHK
KiFh X AR F 379 451 830 362
KT X HERLEERE 6 46 52 52
KiFh X AEYNE 95 109 204 60
KiFh X HIUVHLE 500 549 1,049 344
RiFHh X 22LyE 229 254 483 138
KT X G5 \Z00VFEY 5 17 22 22

RiFh X 5t 3375 3857 7232 2674
SLEHX FRET1X 42 58 100 50
SIEHX FTRET2X 418 450 868 357
SLEHX FXRETIX 225 216 441 181
SMEH X ITERE—TH 252 362 614 260
SLEHX MTEBRZTH 272 308 580 215
SMEH X ITER=TH 478 482 960 341
SLEHX MTEETMTHE 140 192 332 134
SIEHX =T 352 370 722 280
SLEHX ) 251 281 532 214
STEHIX mrkE 650 673 1,323 457
SIAEH X HTRETH HhE 120 131 251 117

SIEHN X ET 3200 3523 6,723 2,606
KN AET P=E~ 85 93 178 49
RIIRHET INETR 73 81 154 52
KN AHET i 246 267 513 184
RINRET Ll 44 52 96 43
RINAHET RINALW 118 130 248 74
KJIHET 1IE A1th 77 89 166 55
RINAET & H 128 129 257 79
KINAET =% 136 133 269 84
RINAET TRE 203 229 432 152
RIIRHET [z E 33 66 99 99

KINAHETE 1,143 1,269 2412 871
2JIET f=H 55 52 107 30
28y e 39 41 80 17
2JIET T8 34 34 68 15
21187 RKEN 113 143 256 77
21187 B 57 68 125 40
21187 IEE 185 198 383 139
ZJIET INEN 147 157 304 104
28y D 156 158 314 107
21187 2is 48 46 94 38
2)I/7 BIR 70 88 158 48
2JIET AK 28 34 62 21
28 1% 25 23 48 11
2)II#T i B 46 36 82 19
21187 £H 49 62 111 23
2JIET TtE 34 35 69 18
21187 RN 133 140 273 63
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X £ THRX4A 5 =z B HHEHK
=T RE 56 64 120 26
2 )11ET BEFF 95 116 211 53
2JIET e Siif:u] 357 231 588 285
2 )118T HEWER 8 41 49 49

ZJIETE 1,735 1,767 3,502 1,183

K % 2 HET Kiz 125 139 264 68
iR % EET BHh 11 12 23 10
K % R [GEia 123 125 248 65
iR %R HEFE 67 70 137 40
K % 2 HET B 54 44 98 24
iR % iEET AR 73 78 151 33
K % 2 HET EERTE 44 46 90 20
iR % EET =TT 71 67 138 37
K % 2 ET puipE: 62 72 134 40
iK% R NEF 122 127 249 61
K % 2 HET BE 86 70 156 39
iK% R Biais 60 68 128 35
K % 2 HET it 105 93 198 51
iR %R b 386 426 812 257
K % 2ETET 1,389 1437 2,826 780

[2REL gl 53 52 105 25
FIK Z BT T 151 142 293 73
[2REL KRIIER 131 126 257 60
IR ZHT INER 65 61 126 29
R ZHT FFET 81 107 188 50
IR ZHT FFE L 169 181 350 92
2REL [REE 184 198 382 90
IR ZHT HFEH 241 242 483 136
R ZHT = 4 65 77 142 37
IR ZHT Bf+h 1 1 2 1
IR ZHT N 49 60 109 31
EREL K& 88 86 174 46
[2REL mE 72 66 138 25
K Z BT a0 54 56 110 24
K Z BT 5E 77 86 163 36
K Z ETET 1,481 1541 3,022 755

KIIET E 173 210 383 140
KJIET B 73 76 149 60
KJIET BFall 106 114 220 66
KIIIET HF0O 125 134 259 53
KIIET £ 97 120 217 63
KIIIET JIlEE 123 126 249 68
KIIET HoB 1 1 2 1
KJIET Eqng 177 188 365 102
KIIET Al 257 274 531 181
KIIIET A 100 123 223 63
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X £ THRX4A 5 =z B HHEHK
KIIET HER 74 66 140 45
KIIIET IR 118 111 229 74

KINETET 1424 1543 2967 916
LUNT:L) %) 135 152 287 87
PSR ET LR 69 63 132 38
¥AFRET 1) 259 301 560 183
PO ET T 90 98 188 64
P ET = 48 48 96 32
N EiR 79 87 166 49
¥ASFRET sy 102 96 198 59
T I 130 131 261 66
¥AFRET ABK 45 37 82 27
N B/ 110 128 238 79
¥AFRET L5 114 131 245 74
T i@ 95 107 202 62
¥AFRET o =] 64 65 129 43

KAHETET 1,340 1,444 2784 863
—EHr - PACS L 636 739 1,375 545
BT m/\ & 269 288 557 205
—EHr NES 846 925 1,771 670
BT KE 508 528 1,036 363
—EHr = 105 111 216 82
BT AN &5 116 145 261 95
—EHr R 186 235 421 156
B EHF 108 124 232 79
ZEBH I H 79 103 182 63
B =134 58 70 128 39
—EBHr N 78 86 164 50
BT oF 48 46 94 34

—BHETE 3037 3400 6437 2,381
B ET ] 573 604 1,177 433
BILACHT faF0 74 68 142 55
B ACHT RIE 924 943 1,867 698
BILACHT BHE 68 76 144 47
B ACHT X 1 70 68 138 55
BILACHT kg 195 216 411 126
B ACHT EIA 166 203 369 130
L ACHT HAKAR 120 104 224 77
B ACHT KAR 226 229 455 165
L ACHT =2iE 181 219 400 174
B ACHT ER 69 86 155 73
BILACHT T 16 15 31 10
B ACHT EINN 125 116 241 80
B LU ACHT TDE 9 12 21 8
B ACHT IR 115 135 250 73
B ILAHET H 4 7 8 15 8
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MmERE | TEE4S B X B %
BRILXETET 2938 3102 6,040 2,212

LA HT WAE 261 303 564 242
LA ET WA 513 543 1,056 413
LA HT =IA 67 73 140 46
LA ET b1 96 110 206 65
I ET [£5 68 64 132 53
LA HT 55 143 174 317 137
L ACHT AR—RX 268 290 558 194
LA ET ARZX 423 448 871 349
L4 ET AR=ZX 157 177 334 124
I HT b2} 194 214 408 182
L4 ET JIIF 130 153 283 130
LA ET iE 140 146 286 99
I ET B 153 163 316 150
I HT ks 136 145 281 86
HLACHT BARAR 56 50 106 38
LA ET 7458 52 51 103 28
LA ET %) 75 72 147 48
I ET & 2932 3176 6,108 2,384

B 28,260 30,920 59,180 20,962
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